LI: To multiply a given number by 10 using a place value grid.
I will be successful if:
	I can draw the place value grid and write the digits in the correct column. 
	

	I can move every digit one place to the left.
	

	I can read the value of the new number and discuss the value of each digit. 
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1) 7x10= 2) 2x10= 3) 10x8=

4) 12x10= 5) 10x15= 6) 18x10=

7) 10x16= 8) 22x10= 9) 10x21=
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2a. True or false?

15x10=155
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2b. True or false?

14x10=140
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3a. George is emplying his piggy bank.
He has seven 10 pence coins.

How much does he have altogether?

T

s counting her pocket

She has eleven 10 pence coins.

How much does she have altogether?
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4a. Which representation is the odd one
out?
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4b. Which representation is the odd one
out?
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